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Thursday, February 6 Consequently , for any 230,

Group Work #3 today 4-)loglogh<wh) < (+) loglogn

TestedProblems #2 posted today for almost oh n
.
This mons that

RELALL: who has no mngorder laglign,
#The number of nex for which

Exercise : Show that all these
-/whis-IgleX) >Cagle

*
25E

is
results hol for MIn)

*/Loglegx]2? # Testingobservation :"It's not hard

Exercise: show that this statement remains to show thatwa dln) sithr
-

true if we replace every loglogy with longlign- We've seen that for almost all u,
(Hint : note lagkgns bybgX +OLD whil > (1) leglogm aud et) < (It aglign ·
fr &nex

.
)

there for almostill no

#RomonjonGenoybudgns
his density 1 . We soy that the inequality So the typical size ofLa is Clogn]1g2

+04.

holds formstall n. This is in dissuance with the overage

orde of di being logn. !
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emevalues of whil and all. Hemma: Let you our set n=-
· Both equal 1 infinitely often , our Thenwh (1+O)
This is best possible
· 112k1 =k

,
so Min =t Note why

infinitely manyn; our this is
best legn =Ep =lyly
possible.

We con determine the "maximal ster" By Thebysher's inquality
, ithology - y.of whi

#GW#3]
Everises : · If fly)=o(D , the

&benglogn = 12 (Tplogy) 1(1+ Oliny)
&ny = 1+ O((y) spowertes/line

=Clogy +02) + Oligy) (k)

log (I + OLf(yi) = OlfIy)) approximations) = (agy + 02) = legy ·( +Oy)).
Here

· If fly igly) the las fly =leggly +02-whis intless· [Group Work3:] Define OLD typ
and(x)=SpX3. The -(H
8(x)=(x)1gx . (1+Oligo)).
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